Section 2.7A Nonlinear Inequalities

Solve the inequality. Then graph the solution set. (Sign chart method)
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5) Test values with sign chart

Solve the inequality. Then graph the solution set. (Sign chart method)
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Solve the inequality. Then graph the solution set. (Sign chart method)
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Solve the inequality. Then graph the solution set. (Sign chart method)
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Solve the inequality. Then graph the solution set. (Sign chart method)
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Solve the inequality. Then graph the solution set. (Sign chart method)
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Use a graphing calculator to graph the equation. Use the graph
to approximate the values of x that satisfy each inequality.
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Use a graphing calculator to graph the equation. Use the graph
to approximate the values of x that satisfy each inequality.
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Section 2.7A
Pg. 185-187: #13-39 odd, 53, 55
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